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natibility :

A n x m matrix
,

A - 1 is the vare of A (if it exists)

ifAt
When does A"exist :

-

O A has to ba que (n = n)
# of rors = # of cols

.

② rank (1) = n (ku(t) = 5)
roof (A) = [1j. ..%]



If both are true
,

then A is inutbla and an

inverse At exists .

How to Fond At ? (An=)
-

my[A)In J a [In(a+ ]



Ex : Determine if
A= invertibk

,
and if[

I

&
it is

, find A
-
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Ay = 5 [A(5]
M I augratedaconfficiat
matrix

If A invertible
,

multiply both sides by At
:

CATAFA E = AT
um



At! i'[
I

& [ I 36 I = - [
x + y + z

= 1

x + zy +
37 = 0 I

2 + 3y
+6z = 0

A =(ii)
-]] =(x = I
3



I : (a) There exists an invertibl nan matrix v) two

identical rows False②
-

- -a
,
-

- vowI
- a

,
-

I &
identical

I
O ..... o I- a2 - - (I)

us j
i
, reduction
-

- an - -an -

When you
have a wor of all O'

,
not invertible

bk rack (A) < n



↓ (b) There exists an invertible 2x2 matrex A sot .

a = [
I I

J Ealsa bla this is

I I not invoteble

-

not invertible
-

A
-1

is o invertible /

(A- )
"

= A =>
inv954 A



A
,
B arc both invertible

,
ther (AB)" = B A- 1

-

(A +B)
+
?

AtB might not be invertible !!!

ex : A invutible
,

so is - A

A +- A = 0 not invertible


